Efficiency vs P,

0.0
o
£0.009
3
£0.008
£0.007
(0]

0.006]

0.005

0.004

0.003

0.002

0.001

Q== TII

107 1 10 119 o, (Ge\}P

TTTT
=
F——f—f—

N

Ratio

11111

Icw A%ESEW.Q{WW. +6p0evt
ﬁs %%igﬁ TRORSLTLIER2 1000evt
=0.0]

B =~

-1 |=2=eroc

IR SRR RN R R e
Q E : : : : :

e e e e
= E : : : . .

q(5.006;— ------ AR R SRR AL AR SLRREELS Preenees
T O o S I
T T o S

+}+H+H +HH|H+{ #

Ratio
ey

Efficiency vs @

= 0.0
9.009
>
%.008
Q
-§).OO7
[J]
0.006
0.005F---
0.004
0.003
0.002
0.001

.........................

T I I I T T T T

.........................

o
T #‘.'

Ratio
S

.............................




	Contents
	Page 1


